il

g
=
s
i

1. ¥¥4
¥4 A 6 A ] | LI [E]E A kT SRR ME R 3
JBA T fi] | LITEDE S BT N

2. EBEAR
1) FEF4

2) BITHIRM

] LIENE ST Al SRR

730 H H &f1 64 447 1H
= Sfh 84 3H31H

3) wHwyI

4) FEHBNA

S nl i E WS M ESbE VAR 3



FEH N

%ljll
I

¥4 | BN 6 FEE LERE A E A R ME B RIS ¥ FHEHIERS
HH TR LA
THHE - THE - R BT B & 4 OB RR
FEELELAT =« 1 27, 888, 240
FEE AT E2V 1 25, 786, 640
ES0 S| 2V 1 112,880 | ¥Hsqtm
1 ES )
BLHFR A =X 1 1,634,400 | HiHFHA
36 B
TEFR TR - O 2V 1 5,954,940 | EFUW R
2 T%H
W)« BXSy
EHK R
6 T
ZEH - BIXSy
IL[ERE - AL 2V 1 13,611,910 | FERRLLFEE
7 T
W)« BXSy
AR IL R
8 T
EHE - BRYy
JEEHERF - (EHE = 1 4,472,510 | JEREHERF
2 T
W - ARGy
TEFEHERE
3 T
I - ARGy
EERE
2 e
W) - ARGy
TEFERE
6 e
W - AKSy

-1- S nl i E WS M ESbE VAR 3



==
=]

m
2
%

EFs4 | B0 6 AR L ERE A E A R AR M R B s E TR RS
H H ARG
THH - T - fER] B fr ¥ & 4 % OB AR
Teg EY 1 2,101, 600
etk 2y 1 2,101,600 | ¥B2NFEZEICET AT
1 X
BT HBOTAE
1 X
[R5 S =4 52V 1 175, 696
[ERES S 52V 1 175, 696
RS e = 1 175,696 | fREAS @Er
1 =
B (ZOtEmER <) X 1 28, 063, 936
Z DA =X 1 15,017, 817
— R A = 1 23, 198, 247
SRR = 1 66, 280, 000

-2 - S nl i E WS M ESbE VAR 3



